
Β ΛΥΚΕΙΟΥ ΘΕΤΙΚΟΣ ΠΡΟΣΑΝΑΤΟΛΙΣΜΟΣ 
5.11     1) 

α)   Είναι   οAB, ΒΓ 120



   οπότε 

  ο 1
ΑΒ ΒΓ ΑΒ ΒΓ συν AB, ΒΓ 10 10 συν120 100 50

2


 

            
 

 

β)   Με Πυθαγόρειο Θεώρημα στο τρίγωνο ΑΜΒ έχουμε 

2 2 2 2 2 2 2ΑΜ ΑΒ ΒΜ ΑΜ 10 5 ΑΜ 75 ΑΜ 75 ΑΜ 5 3            , επομένως 

 
 

ο60
AB , ΑΜ

2
ο 3

ΑΒ ΑΜ ΑΒ ΑΜ συν AB, ΑΜ 10 5 3 συν30 50 3 75
2





           

γ)   Είναι ΒΓ ΑΜ  και άρα ΒΓ ΑΜ 0   

5.11     2) 

Είναι    , 60



   . Οπότε 

1
, 10 10 60 100 50

2


 

              
 

 

5.11     3) 

Είναι    , 120



   .Οπότε   

1
, 10 10 120 100 50

2


   

                  
   

 

5.11     4) 

Είναι    , 120



   . Οπότε 

1
, 10 5 120 50 25

2


   

                  
   

 

5.11     5) 

Είναι    , 90



   . Οπότε 

, 5 3 5 0 0
 

            
 

 

5.11     6) 

Είναι    , 30



   . Οπότε   

3 3
, 10 5 3 30 50 75

2


  

              
 

 

5.11     7) 

Είναι    , 90



   .Οπότε   

, 5 3 5 90 25 3 0 0


 
              

 
 

5.11     8) 



Είναι    , 120



   . Οπότε   

3
, 5 3 10 120 50 3 75

2




  
                      

 

5.11     9) 

Είναι    , 120



   . Οπότε   

1
, 10 5 120 50 25

2


   

                  
   

 

5.11     10) 

Είναι    , 60



   . Οπότε   

1
, 10 10 60 100 50

2


 

              
 

 

 

 

 


